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1. Find the solution of the given initial value problem. Show your work. (6 points)
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2. Determine the order of the given differential equations. Also state whether the equa-
tion is linear of nonlinear. Explain very briefly the justification of your answer.
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3. Show that the given equation is not exact but becomes exact when multiplied by the
given integrating factor. Then solve the equation. Show your work. (8 points)
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4. Find the solution of the given initial value problem in explicit form, and determine the
interval in which the solution is defined. Show your work. (8 points)
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5. Find the solution of the given initial value problem and describe its behavior for in-
creasing t. Show your work. (6 points)
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6. Verify that the functions y; and y, are solutions of the given differential equation. Do
they constitute a fundamental set of solutions? Give a reason by showing your work.

(8 points)
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7. Use the Method of Undetermined Coefficients to find the particular solution of the
given differential equation, then find its general solution. Show your work.
(8 points)
y" + 4y’ + 4y = 6sin 2t
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